OauMnmaabl U1 CTYJ€HTOB U BbINYCKHUKOB «Bbicmast mura» — 2020 r.

DuHAHCOBbIE PHIHKU U (UHAHCOBbIE HHCTUTYTHI
Bpemst BoinmosiHeHus - 180 MUHYT, SI3bIK OTBETOB — PYCCKM
Koxa npogus — 180
Penienus TecToB U 3a1a4

II. CHEIIUAJIBHAS YACTb
Ilpu gvidoope numinux omeemos OUeHKa 3a Mecmogulii 60nPoc cHuMcanacy na 1 dann.

TECTBI (Bcero 20 6a.110B 1o 0J10KY)

1. (2 points; 1 point per correct answer). Choose the correct answers:
1) Usually, ETFs compared to mutual funds are characterized by lower commissions.
2) Usually, ETFs are characterized by a low level of liquidity.
3) ETFs track indices of stocks and bonds, there are no ETFs provided for commodity
markets.
4) In the European Union, a large share of the ETF market (more than 50%) is formed
due to the funds of institutional investors (pension funds, insurance companies,
endowments, etc.).
5) ETFs traded on the Moscow Exchange allow you to invest only in Russian companies.

2. (2 points per correct answer). The public company AAA belongs to the metallurgy sector,
the public company BBB produces medicaments. What are the more appropriate beta
coefficients for this companies?

Bepnblii oTBeT: 2.

Beta of AAA Beta of BBB
1) >1 > 1
2) >1 <1
3) <1 >1
4) <1 <1

3. (2 points per correct answer). The multiplier EV/Sales of the retail company AAA is 3. The
oil company BBB is analogous to AAA. The company BBB has the following financial
indicators: Net Income is 5 bln Rub, Sales is 20 bin Rub, the balance value of the Equity is
12 bin Rub, the market value of Debt is 16 bin Rub, the market value of Preferred Shares is 6 bln
Rub, Cash and Equivalents are 1 bin Rub.

The market value of equity of the company BBB based on the multiplier EV/Sales of the
company AAA is:

1) 33

2) 38

3) 39

4) 78
Pewenue: ons BBB paccuumaem EV na ocnose oannvix no AAA = 3*20 = 60 man pyo.

T.x. EV=MC+Debt+Preferred Shares—Cash and equivalents, mo MC = 60-16-6+1 =39 mun
pyo.

4. (2 points per correct answer). The return rate of the portfolio of stocks is 20%, the standard
deviation of the return rate is 12%, the risk-free rate is 5%, the return rate of the stock index is
15%. Indicate the Sharpe ratio of the portfolio:

1) 1,25

2) 042
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3) 0,83
4) 0
Pewenue: (20 - 5)/ 12 =1,25

5. (2 points per correct answer). Macaulay duration of a corporate bond is 5 years. YTM is
10%. The coupon rate is 8% (per annum).The percent rate in the market declines by 1,5%. How
the bond price will change?

1) Increases by 6.94%

2) Decreases by 6.94%

3) Increases by 6.81%

4) Decreases by 6.81%

5) Increases by 7.5%

6) Decreases by 7.5%

0
Pewenue: ML = MD = 5/(1+0,1) = 4,54
(1+r)
DF
? r = AT * A Hszmenenue yenvr = +4,54*1 5% = +6,81%

6. (2 points per correct answer). The average historic premium between the return rate of the
stock market index and the yield of long-term government bonds is 4%. The expected return rate
of stocks of the company «AAA» is 11%. The return rate of the stock market index last year was
14%. If the stock market index grows by 1%, it is expected that the stocks of the company
«AAA» will grow by 1.3%. According to the CAPM model, investors have no incentives to buy
or sell stocks of the company «AAA». What is the current yield of long-term government bonds?

1) 10%

2) 8,8%

3) 7%

4) 58%
Pewenue. 11% = rf + 1,3 *4%; rf = 5,8%.

7. (2points). The investor opens a deposit of 300 thousand Rub for 270 days at the Bank “A”.
The calculation base is 360 days. Bank «A» capitalizes interest payments on the deposit account
every 90 days. The interest rate is 6% per annum. What amount (in thousand Rub) will the
investor receive at the end of the deposit?

1) 3137

2) 3184

3) 3135

4) 318,0
Pewenue. 300*(1+6%*90/360)° =313,7

8. (2 points). With a 95% probability for a 2-day period, the maximum loss of the portfolio
“Stocks of oil companies” will be 5 mIn USD. Calculate the VaR of this portfolio for a 6-day
period and the same probability level:

1) 7.1

2) 12,2

3) 15

4) 8,7

Pewenue. VaR (6 oneti, 95%) = (V6 /+/2) *VaR (2 ous, 95%) = 1,73*5=8,7 man py.
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9. (2 point per correct answer). Based on the portfolio of stocks AAA and BBBwe obtain the
following APT model: E(r) =12+ 62, where g is the coefficient of sensitivity to the stock

index. The expected return rate on stocks CCC is 17%, the coefficient g is 0.7, the return rate

on stocks CCC for the last year is 8%. Is it possible to receive arbitrage profit and how?
1) No, it is impossible to receive the arbitrage profit.
2) Yes, one can sell the portfolio of stocks AAA and BBB and buy the stocks CCC.
3) Yes, one can buy the portfolio of stocks AAA and BBB and sell the stocks CCC.

10. (2 point per correct answer). BeiObepute npaBWIbHBII OTBET, MOKA3BIBAIOLIMN pa3IMYHe
CTPYKTYPHOH HOTBI M CTPYKTYPHOH oOnuranuu (MHBECTUIIMOHHOM oOymmraiuu, Hanpumep, MOC
ot CGepbanka):
1) WuBecTuipioHHas OOJUTaIMsl 3TO JIMCKOHTHAs OOJMramus ¢ OTCYTCTBHEM KYIOHa H
HErapaHTHUPOBAaHHBIM TEJIOM K IOTALIEHUIO. BplmaTa 3aBUCUT OT BBINOJIHEHMS] TOTO WU
MHOTO YCIIOBUS (U3MEHEHHE MPOLIEHTHOW CTaBKU Ha PhIHKE, M3MEHEHHE Kypca pyOss u T.1I.)
3a BECh MEPHO/T )KU3HHU OOJIUTAIIH
2) HHBeCTHUHOHHASI 00JIUTALMS H CTPYKTYPHasi HOTA - 3TO KYNOHHbIE CTPYKTYPHbIe
NPoAYKTHI. BelnunHa KynoHa B 000MX cjIydasiX 3aBHCHT OT TeX WJM HHBIX YCJIOBHUH
(coObITHI HA PbIHKE) B ATy KyIIOHA.
3) CrpykrTypHas HOTa W WMHBECTHLUOHHAS OOJIMTAIMs CTPOSATCS C HCIOJIb30BaHHEM
JI€pUBATHUBOB.
4) Ornuuusi CTPYKTYPHBIX OOJMraiii ¥ HOT OT OOBIYHBIX OOJHralUii 3aKIrYacTcs B
YBSI3KE BBIMIAT C TUHAMHUKON COCTOSHUSI HE OJHOTO AMHUTEHTA OOJUraiuu (CMOXKET WU He
CMOJKET 3aIUIaTUTh), a HECKOJIbKUX. Bce npyrue ycinoBus oOpaiieHus uiaeHTUYHbl. OTinune
HOT OT CTPYKTYPHBIX OOJHraiuii 1opuanyeckoe (He Mo BETUYHHE BBIIIAT) U ONpEAeseTCs
POCCHUICKOM WJIM aHTJIMHCKUM IIPABOM.

HauuoHnanbHBIH HCCIe10BATEIBbCKHI YHUBEpPCUTET « BhICIIas 1IK0JIa JKOHOMHU KM 3



OauMnmaabl U1 CTYJ€HTOB U BbINYCKHUKOB «Bbicmast mura» — 2020 r.

3agaun (Bcero 30 6a/1510B 10 0JI0KY)

1. (Bcero 12 6GangoB, 3 Gamia 3a kaxablii nmyHkKT). CormacHo orderHoctd MC®O mo
nyonuyHo komranun AAA, 3a 2018 1. coOCTBeHHBIM KamuTal MO OaJaHCOBOW OIICHKE
cocraBmsieT 4 200 ThIC.10MIT., 3aeMHBIH KanuTas B pazmepe 2 000 Teic mosut. mpuBiedeH mox 8%
ronoBeIX. Taxke ananuTuk Hamen, 4yro 3a 2018 rox Sales cocrasnser 15 000 Teic. momr., Gross
Profit pasua5 000 Teic. most., Selling, General and Administrative Expenses (S&GA, 6e3 D&A)
cocrasisttor 2 800 Teic. moit., Depreciation and Amortization 700 teic. momr. DddexTuBHas u
¢uckanpHas craBka Hajora Ha NpuObLIL paBHbI 20%.

Nsmenenne Net Working Capital 3a 2018 roa cocrasister 150 toic. momi. Net capital
investments pasen 104 toic. mosut., Net borrowing 50 Theic. mos.

Tpebyemass 10XOAHOCTh MO COOCTBEHHOMY KamuTaiy cocTaBiseT 16%. CoOcTBeHHBIN
KaIruTai 1o ppIHOYHOMU oneHke coctasisieT 10 300 Toic. 1oi.

Paccuuraiite 3a 2018 roa ciaegyronime nokazareiu:
1) EBITDA u EBIT,;

2) OCF;

3) FCFE;

4) ROC u WACC. DddextrBHO 11 paboTaeT KOMIaHus, Ucxoas u3 cootHomenuss ROC u
WACC?
Pewenue.

1) EBITDA and EBIT
Sales 15 000
Cost of Goods Sold (10 000)
Gross Profit 5000
Selling, General and Administrative Expense (2 800)
Depreciation and Amortization (700)
EBIT = Gross Profit — Selling and Adm. Exp — D&A 1 500
EBITDA = EBIT +D&A 2 200

2) OCF = EBIT(1-Tax Rate) + Depreciation&Amortization - Change in Net Working
Capital = 1500*(1-0.2) + 700 — 150 =1 750

3) FCFE = OCF — Capex + AD — Interest*(1-Tax Rate) =
= OCF — D&A -Net Capital Investment+AD -Interest*(1-T) =
=1750-700 — 104 +50 —2000*0.08*(1-0.2) = 868
4) WACC =rd *D/(D+E) *(1-T) +re *E/(E+D) =
= 8%*2 000/12 300*(1-0.2) +16%*10 300/12 300 = 14,4%
ROC = NOPAT / Capital Employed = EBIT*(1-T) / (E+D) = 1500*0.8 / 6200 = 19.4%
ROC>WACC, xomnanus pabomaem s¢ghgpexmugno

Kommenmapuii no kpumepusm oyenxu. Eciu 6 nepsom nynkme 6bvlia He8EpHO pACCUUMAHA
EBIT, mo maxcumanvnas oyenxa 3a smom nynkm cocmagnsem 1 6ann.

Ecnu 60 émopom nynkme npumensnacy negepuas ¢opmyia pacuema OCF, mo maxcumanvHas
oyeHKa 3a 3mom nyHkm cocmasensiem 1 6ann.

Ecnu 6 mpemvem nynkme emecmo FCFE 6wi1 naiioen FCF, mo maxcumanvnas oyenxa 3a smom
nynkm cocmaensiem 1 oann.
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Ecnu 6 uemsepmom nynkme oasa pacuema WACC ucnonvzosanuce eeca cobcmeennozo u
3aeMHO20 Kanumaia no Oalancosoll oyeHKe, Mo OYeHKa CHUdxcaracy Ha 1 oaun.

2. (8 0amnoB). Komnanus «A» ycTaHOBWJIA TOJAOBOM JUBHACHA MO NPUBUIECTHPOBAHHBIM
aknusm B pasmepe 10% ot Hommuanma. HomuHan mpuBuierupoBaHHoW akmuu -140 pyOueii.
TpebOyemast T0XOTHOCTh HHBECTOPOB IO BKJIabIBacMOMY KanuTany — 13% romoBbIX.

Paccuuraiite cpaBeyIMBYIO PHIHOYHYIO LIEHY NPHUBUJIETMPOBAHHON akuuu Ha 1 sHBaps
2020 r. mpu YCIIOBHMH, YTO TUBUACH/I BHIIIJIAYMBASTCS J1Ba pa3a B roj, HaunHas ¢ 1 mas 2020 T.
Pewenue:

Paszmep 20006020 ousudenoa cocmaesnsem 0,1*%140 = 14 pyo. Ilo ycrosuro
svinayueaemcs 7 pyob. paz 6 noneooad.

Tpebyemas nonyeooosas doxoonocms ¥ =,/(1+0,13) -1~ 0,063

Ecnu 6v1 ousudeno niamuics 8 Konye Kaxrco020 KaieHoapHo20 nouyoous, oviia oot PV=
=7/0,063 = 111,11. Ho neobxoouma KoppeKmuposKka ¢ y4emom evlniam, Hauyunas ¢ 1 mas.

Tpebyemas 0oxoonocms 3a 4 mecaya r,, =3/(1+0,13) —1~0,0415

HUcxoman PV = (111,11 + 7)/1,0415 = 113,4 pyé.

Kommenmapuii no kpumepusam oyenxku. Ecau He yuumvléanocb (uau HeKOPPeKmMHO
VUUMBIBANIOCY), YMO BbINJIAMbL OUBUOEHO08 HAYUHAOMCA ¢ 1 Mas, Mo MAKCUMANbHAL OYeHKA 3a
peuwtenue cocmasnsiem 4 banna.

Ecnu pacuem nposoouncs no ¢popmyne P=DivIr = 14/0.13, mo oyenka 3a pewenue cocmasnsiem
2 6anna.

3. (10 6annoB). B nanHbIii MOMEHT pBIHOYHAsE CTOMMOCTH akiuii komrmanuu ABC Ha Oupike
cocrasisier 100 gomn. Ilpu 3TOM rogoBsie KOUI-ONUMOHBI co cTpaiikoM 100 Topryrorcs mo 8
noJi. ['ofgoBast mpoIieHTHAsE CTaBKa Ha phIHKE cocTaBisieT 5,26%.
Kakoit cipaBeyiuBbIif K03 GUIIMEHT ydacTus JODKHA UMETh HOTA € 3alllMTOM KamuTana
CpokoM Ha oauH roj u akiuusiMu ABC B kauecTBe pepepeHCHOro akTuBa?
OreHka 3a 0TBET (OPMHUpPYETCs CIEIYIOIUM 00pa3oM:
1. (3 6amna): 3 kakux UHAHCOBBIX HHCTPYMEHTOB COCTOUT JIaHHAS HOTa?
2. (3 6amra): Kakast cymma Oy/ieT HampapiieHa Ha MOKYIKY KOJUI-OMIIHOHA?
3. (4 6ayuna): KakoB kodpdunmeHt yqactus?

Pewenue.
1. Homa cocmoum uz denozuma, 2apanmupyoueco 8036Pam GILONCEHHbIX CPeOCm8, U KO-

ONYUOHOB, KYNJIEHHBIX HA OCMABULUECs CPeOCmEd.

2. Ha oenozum 6yoem nanpasneno 100/1,0526 = 95 donn.
Ha noxynky xonn-onyuonos 100-95=5 oonn.

3. Koagguyuenm yuacmus pagen 5/8 = 62,5%.

Kommenmapuii no xpumepuam oyenku. Eciu na nepeviii nynkm 6vi1 0aH omeem, 4mo Homa
cocmoum u3 akyuil U Koai-onyuoHo8, mo oyeHKad 3a OaHHbull nyHKm cocmaensna 1 6ann.
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